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QUESTION 1

You are using an AFF A700.

In this scenario, which two default storage efficiency techniques will help save space? (Choose two.)
A. postprocess deduplication

B. inline deduplication

C. postprocess compaction

D. inline compression

Correct Answer: BD

QUESTION 2

Click the Exhibit button.

::> storage failover show
Takeover
Node Partner Fossible State

nodel node2 true Connected to nodel
node2 nodel true Connected to partner, Takeover is not possible: Storage failover mailbox disk state is invalid, Local node
has esncountered errors while reading the storage failover partner's mailbox disks. Local node missing partner disks

After a storage failovergiveback, you see the storagefailover show output shown in the exhibit. The problem does not
resolve after five minutes.

Which two areas should you troubleshoot to solve the problem? (Choose two.)
A. NVRAM

B. disks

C. FCoE interfaces

D. cabling

Correct Answer: AB

QUESTION 3

You are running out of space on an aggregate and decide to move a FlexVol volume to a different aggregate. You do
not want to move the Snapshot copies with the volume.

Which two actions satisfy your requirement? (Choose two.)

A. Use the volume move command on the FlexClone volume.
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B. Use the storage aggregate relocation command on the node.
C. Create a FlexClone volume.
D. Use the volume rehost command on the FlexClone volume.

Correct Answer: AB

QUESTION 4

In an aggregate with only thick-provisioned volumes, you need to split a FlexClone volume from its parent volume.
There are other volumes in the aggregate.

In this scenario, how much space must be available within the containing aggregate?
A. You need enough space for twice the size of the parent volume.

B. The split FlexClone volume must be created in a new aggregate.

C. You need enough space for half the size of the parent volume.

D. You need to double the space in the existing aggregate.

Correct Answer: A

QUESTION 5

You use the Automated Workload Analyzer (AWA) to identify workloads that would benefit from which feature?
A. Flash Pool aggregates

B. Advances Disk Partitioning

C. storage efficiency

D. FabricPool capacity tier

Correct Answer: A
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